(6) && - HIEKIE
(BN C)
A & & H H = G i H
1 13.5 4 H 1 -4.5 24 H
2 17.5 13 A 2 -5.0 7 A
3 21.5 18 H 3 -2.0 11 H
4 27.0 17 H 4 -1.0 11 H
5 31.0 24 H 5 8.0 5-17 H
6 31.5 12 H 6 9.0 2 H
7 33.5 29 H 7 17.0 11 H
8 36. 0 & 8 18.5 11-27 H
9 35.5 H 9 10. 0 29 H
10 27.0 H 10 4.5 30 H
11 19.5 H 11 -1.0 24 H
12 19. 0 22 H 12 -1.0 16 H
AP B e AU 36.0 C (8H 7H)
AP R R A AU -5.0 C (@H 7H)
(7) A%t - ENBE (BN %)
(GHAN O ELLE)
Aok W R OB | E =
H ] R & K
1 99. 0 83. 0 98. 8 88. 3
2 99. 0 51.0 98. 4 76. 0
3 99. 0 39.0 95.5 60. 8
4 98. 5 40. 0 84. 0 55. 0
5 98. 0 28.0 88. 2 58. 0
6 98. 0 45. 0 89. 4 60. 2
7 98. 0 67.0 94. 3 73.3
8 98. 0 61.0 83. 7 22.5
9 98. 0 68.5 93.9 72.5
10 98. 1 61.0 89. 4 70. 1
11 98. 5 60. 0 94. 3 71.8
12 99. 0 61.0 96. 1 80. 1
e A R 9.0 % s 11 4az- 10, 12810
A P i AEORE s Tl 28.0 % (5H20H)
] e e S 98.8 9% (1H17H)
R A A T2 Tt 22.5 9% (8H 1H)
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